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BMS IIT FOUNDATION MATHEMATICS TEST PAPER

(x+2)(x+3)(x—10)>0, holds for x e

@ [-2, 10] (b) [-3, —1][10,0)
(©) [-3-2]U[10,0) (d) none of these
Solution of the inequality, X—3<+/X* +4x—5 is

@ (-o0,-5]U[L ) (b) (=53]

(c) (—o0,-5]u(%,) (d) none of these

Al x for which (3-x)(2x-1)(x—4)"

(x=1)" (x-2)°
(@) XE(—OO,%}U(Z,OO) (b) xe(2,3]U[4,)

>0 holds are given by:

(c) xe (—oo, ﬂ U(2,3]  (d) none of these

If i+i>0; holds for x e

x-1 x+1
@ (-,5)

(b) [-1, 1)
© (-LY)Hu(Lx)
(d) None of these

The number of real solutions of the equation x* —3|X|+2=0 is:

(a) 3 (b) 4
(c) 4 (d) 1

If Xx*+6Xx—27>0 then
(@ x<3or x>-9 (b) x<-9or x>3

() 9<x<3 (d) none of these

The set of all real numbers x, for which X* —[x+2|+ x>0 is:
@ (—o0,—2)U(2,) (b) (o0, ~v2) (V2,0
© (—o0,~1)U(L ) (d) (v2,)



8. The solution of the equation 1—|x—1>0 is:

@ (—,0) (b) [0, )
(C) [_2!0] (d) [0!2]
9. If x+l:5,then(x3+i3]—5(x2+%j+(x+1j:
X X X X
(@0 (b) 5
(c) -5 (d) 10

10.  The number of roots of the equation |X|=X* +Xx—4 is:

(@ 4 (b) 2
(c) 1 (d)0

11. The value of \/6+\/6+1/6+...to 0 iS )

12. If the sum of real roots of the equation |x —3|3X s _ 1 k, then the value of 3k is .

13. The set of values of x for which |x—1|+|x+1| <4 always holds true is (a,b) then

the value of b-a is )

Answerkey:
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11. 3.00
12. 19.00
13. 4.00



